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(1) flz,y) =2® +axy +y* — 3z + 2y + 2
(2) flz,y) =32 — 2y +y* —br +4y +1
(3) f(z,y) =22* +5zy+1y? — 3z — 2y + 3
(4) flz,y) =42+ 3zy +9y° + 22 -5

(5) flz,y) =a* +3zy +y> —x — 2y +4
(6) f(z,y) = 22% + 3xy — y* + 4z — 3y + 3
(7) flz,y) = =32+ 5oy + 20> —x —y+2
(8) flx,y) = —4a* 4+ 3xy —y* + 5z — 3y — 1
(9) flz,y) = —32% — 6xy — 2> + 22 —y — 4

(10) f(z,y) = =32 + by —4y* + 22 +y — 3

0000000000000000
(1) f(z,y) =2 + 2y — 2y° + 3
(2) flzy) =2 —22y+y° —y —2
(3) flz,y) =22" —6ay® +3° — 9y +1
(4) f(z,y) =22° —3zy + 2> + 5
(5) f(x,y)=m3+2m2y—y2—%—3
(6) flz,y) ="+ 32’y +5y° +2y — 1
(7) flz,y) =a* =227y +3y° —y+1

(8) flz,y) =a"—2zy+y°



